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2-103 7’1
WP X5 XA 0w O Amount vs. Date

300

T8 XM7Y X200
(:X5 1) Xnwnn

200

Wine is more valuable
than oil in Galil

Amount

100

2/6/2023 2/7/2023 2/8/2023

Py Date

Galil Wine Inc

NASDAQ:GLWN

00 289.98

today(0.91%) 1.71+

After hours 192.77 +2.79 (1.47%) PM

1w X251
(.71 Naw)
(.nu Naw)
(.2 D173 NP YTY)

(:x5n)
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Two 0°992 in regards to when an 131277 1wy will be 71MT another 131277 Myn:
131277 7wun Relnisin 13277 Yy
My X7 is this X1
(.192 7°11) 132777 7DPT T 13277 NI DK 132770 N 132770 WX 52 NP 110

(T3 awy a"7 'on 7 PMN) 13277 TT AL OmT 3277 0°277 0wy

(:5 Pr3un) .21 e Su baxnnn 5o

If the X717 X would have been there:
7w 12 52°0 YW 1w 2100 P1Pwaa XOX PRUAR XD T MK 2020 XDNRPK 30 1 10K T 137

(.2 naun)

(:37? 1) T 9200 9200 7 920 0o ]1-‘!'7 XX M7 0N X0 °X 7071 17 TNX

XWITn 2 XYW DX

n”a

(:X2p o°rios)

(:x> n3un)

Is there an MO°X of U N°XN for an 11177 MO°K?

(:02 1) 1127 PNOK PN IANPAT DA P98 21PN XN XK 1T 7772 XOX 172 P00
(.32 NAW) ..121°X12 *071 K1 K12 °002mPAT PInn XNn *127 XTWN 01wn 02u?

This is talking about the 131277 MXn of lighting 712117 M3:

MPXIN 712 7P AX WK 2202 U Twa 09K PIUD PU PR P PH DPKOR 10K XPT D w2
PU MPXTIA XD’ 3277 TO°KAT '3 FPH0a D2ub X" NUT 0 A3 290 XWX M20°Y PU

(7"X2 X"0 "0 19 17’0 W *72)
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DO'RINNI O'NIN

| want to say that there are at least 3 D171’s in "W
(:2% 13)(.2p MAIN2)(:2 NAW) >R O

(20 O°5pWw)(.a 7Pan) 17 03 WK 01
(:1D NAY)(.AX PN (33 Ma73) oM

w N R

1515 72 X1 '
| think he is in ®222 only once (. 72 N°3unN) But | have seen his name at least 5 times now in *n?u17:

(.7 DT NP Y)

(:31 M2 *NPUN)

(.1 01T nu)

(.72 1 RDEIT) 121 PIAK X112 12 X1 T MR
(.0 P13 onbu)

(€ T O TURE SN

A Rare Word In Aramaic:

The word is >’ and it means Master:
Until D771 N20n | only thought | saw it once in *222. In(: V2P 1P211)

But | see it again here in(. > 0173 °nHU17)

A Rare Phrase In Aramaic:

They were wealthy with answers

(.72 ’D’?W'I‘I’) AN N Pl

X727 8NN
Who's counting? why is 17 "7 771772 X117 "1 counting?
(.17°11) 0719 21N X7 XINXI XDD "1 INX
(.79 XWX X21) *XIDTTT NPT 2D D1 XDD T
(.3 P1un) XIP°UN 01N 720R XND* XN 5°IX X091 X019 93 XD "

(:0D D°MOD) XI°27 KT K21 °DD 7IXN X

Do you get the Joke?
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(X P1OD L POID TNON n')'m) NIN 19N11: )'an'ol
Opposites:
“New City” “Old City”
(.02 "aNY) NTINYAY NYTN Y
(1Y 'WITP) MIDX DY mw:
Oppositely situated word pair searches:
(:2 0'Dpw) NV NaILY
(:0 NVID MWN) NIV NV

(A2 ' MOWINY) DNINYY UKD
(:2 D) WXIN NINWN

(:2n1d>12) NI'NL ... NO'W 12 N
(.1o XN NO'W 12N ... NAI'NLY

(XX NAW) ['VIDTI 'KIWP Xon ... N'PTN NN
(.N M) NPTN AN ... ['VIDTI'RIWP NN

(.IN NI212) AT XN
G1D |'0A) NN T

(» ’MOBD) XYY NN ...17130

(.X? P11) 122 R¥Y ... KW MY

(X:3 nPmp) oawn nnn yoan 3% N narbab

There’s a time to call someone a U1, and a time not to call someone a Uw:
“You are calling him a uw?”
(.30 7°13) 2709 DR B R R W D K
"You’re not going to call him a uw7?”
(.2 M) PR XD 1 Uw 1 XPT XN WITR 02000 12T D7PR IPKY 921 X237 7D 0K
| want to say in MN2’ there that X271 is 1NWW:
(.n Naw) X177 o "IP’D‘? M 13377 7287 XN KT X3 NN

perhaps “X31>°724U” is similar to “U1” in this regard.
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Assets Plus Equity or Equity Plus Assets?
Two Wealthy people of 0”w:

(19 P2PL) AW 2 ML AP 1T D2 MIPD0 APX 17 w2 11T DW PAX POP 12 hRuny” M 1inh naxk .1
(:1% XP) @22 MPDD ADK 1731 W22 MI»Y 79K PIAX 1D MPINw 01077 12 TUPK 15U Phu a2

The definition of Wealth:

"2 12 wPw 92 NI N9V " 0"PWA 0 PRA 10727 1IWLA M DM Wy 9 PruneK 1
92 NI 0P " D°WUNA XK1 AWK 12 YW 92 TmIK X22PY 27 172 PIIUY 02728 'R DI XD 027
(:712 NAW) BAPWS NND X0 N°1? WP

) 'IP'?T'D NN PYUIPK 101 01X X032
(X:7 Max >pI9)
| want to say that 7’Xn "7 in N2W might be the most like X172
Being wealthy in something else:
(7211 ’D’?W'I‘I’) 12WwNIa N0 Yy

They were wealthy with answers

The definition of Poverty:
(.xn o071) nuT2 DX 211 X 11P0P1 72X X
“That is all he has.”
(.X5 1) X XOX P2 9T
(.7 0P TUN) PSU PN TTIPX
(:30 D2AW) IR QP YR 0130 11 X271 °Ua

Opposites: (above)
Oppositely situated word pair searches:(above)
Switching letters within the word:

(2 ' Mdwi) vINY DN 1VNY' NIVY DN INVY'
This is the XNJNON source for the MMNT |XN that there is [127T 71V NO'NW.
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Daf Yomi Kabbalah and Mysticism
( n,X N'WXI2 NnDN qwn) 121 naw 051y Time and Space:

A midget fortune teller who escaped from prison could be referred to as a small medium at large.
It is right here in the middle that they learn the beginning from the end:
(:X2 1) WIpN HIoN WTpn NO'NN [1'99'T 'KNY N'AT IN'NYL 'RN

Since | mentioned 012 |2 012 | would like to insert here all the sons who were named after
their fathers in 0"V:
(:N' NI>N2) XAN 12 NN
(.Np N2QW) NNX 12 XNN
(.NX '21IN) "X N2 TR
(:nD |'aNn'y) 012 |A DM
(:nND |LP TVIN) AN AN
(X5 MTNTIAY) 'MNNI 1A NN T NNAN'N N
(N MTNTIAY) 'X51N 12 NN
(-2 7'M MAwinY naan 2 NN
(.25 N>'an) 'N1* 10 N
(.IvV [NTNI0D) 2pyr N2 2pyr .
(.NXXIN2 X21) N2 n

RPoOLVONOUTAWN

= e

Two who's father’s names are missing one letter of their names:
(.AD '2IN) 2NN NON |20 N2 D' ) IN'0I
(N 2anY)m1an 1
(10%pw) NANANAN .2

Like Father Like Son:
(:29 PIT7I0) X1 TN WA 1A TR 2w K OKIP 110K

Unlike The Father Is Not The Son:
(.30 P2PPU)(:T2 N12712) DIX XA 1A KPR XA XY L1
(.3 POIM) RIX XM2W 72 XD XIX X0 KD XIX .2
(3777 7AL) XIXN IR WY .3

"X DY 177" NUAY M2 TEOK N Punw

(.7 MN?) 121 07PY WK Sw 1277 0011 0P DINX 1ATR X2 WX 137 DU K punw .1
AWK PRI 392 1277 WK w21 PR DX IXDA1 X 0K PUAY 12 TUOK ' 0w KUK IR .2
(:rfo Mn’) w35 1177
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Revenons A Nos Moutons (“Returning to our sheep” french expression for “getting back to our subject”)

71w Auwn
(.02 D7) 72 XD IIX XKPPY N 12 DKW RWIRWI? 7713 °2770 710K 7N mnek xin - .1

At the time she made the 771 she wasn’t married. According to X2°pu " we look at her status at
the time she made the 771 to determine if the husband can revoke the 771 or not.

(:X% ) 1w UWR A0 170K DIN0 OXWN PR TNY R .2

What does he really hold Three, Two, and One?
Three places in 0”w that we say 17X 127 DWW A7 :

(:3p Paw)(.72 1) (.20 Parru)
Two places in 0" that we say 77X 127 NWYW21 0P "
(:r? o°noo)(.1> Pu)
One place with 7°Xn ":
(:1%2 Pa11)
Now in a N1?Mn a *27 and a Tn?N we pasken like the *27:

(:09 MAWY) X171 PRYN X2PPU M7 XN

Comes out that >0 "7 is coming to be 7 nnn:

It isn’t always initially clear if he is coming to be 1 or ?°n, and if his TV’ is more 7’7NN or more
57’1 than his XN350 72’s.

(5 1) (. PL)(np NIY)

A Different Kind of Different

MWW 27 IR 191 0w XD CNDIT IXWA T RXPD L1D1 CWPR T I

('WIN NIT INN"T 2 00T WD WND) NAIWN DN [IWOW KON
(.TM) N'Y DT XN ooV 1

(-TM) 'O NN I'SY IV yawin Nin
“As Rabbainu Tam observes in Sefer Hayashar regarding this passage, “the language of Tractate Nazir is

unusual.” (Artscroll Nazir 4a Note 1)
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The RIwn is even according to 77> ':
(2> DIM)(EAY " NWWD T PR)(PI0 WNT AT AN MIwnd XD M273°0 YU .1 n)

;119571 7275 KPR 2N
DIPW 17 PR W XIP0 1272 71297 1270 DIX XYW 1172 27 0K

(> P3N TNA NP0 AWIEN MR XIPN 1277 X0 PRY "D
(MM M AT UM " . X X322)(.2 N1972)(.2 1) X XIPX XID

We go from X7pn to miwn.

AN 121 120 112 1D IR0
(:0 PYATR) FPTL XTI 1D
(.30 P9IM) X 19N 1277 1D 1

12 58 0 AN 2T P AR 172 PAINAW P2 NAW AN 23w 1P 0202 I 12 WY 0N I PRl XPIN
T2 D2own INND X1 AP DU X0 00 DU 00 1212 70K KK 192K 7T 112001 1 0K

(21 p2rw)
N oRIPRN OPP X2 YW I8P 012 PaX 19005 M N2 NAw3a PRI I 0 YIN NI Nuaw
(.77 N2W) POIT AW TUWA12°OR] AUAWAT AW 1A 71297 37 1A PEN0N TNIK NUAY M2 TWHK

272 7DP TUSK 12 PP 720
(.17 PTI TP 72 1O M 5w 112 HRUAY? 1) 22772 19R0 TUPK 112 117 120
Interesting that he is not in »2X’s list in 0°771:
(> 0°T3) 7 RO PIIT 10 DOX A0 1212 7R TURK T NURY N IR0 NURY ax K
Well is there anyone who doesn’t hold like 9P TTuoX "1?
| want to bring a i’X7 that 777 1 doesn’t hold like 19p71 TUPX "7 from the *n2w1:
P NONW XOX 707D 7T P KT AT N 0w3 N
The 717477 1272 explains:

(:71 1Y) P12 MR YA AT ' 120 AR unw
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A Vort of P1r°m:
We are nearing the half way point. Perhaps you are feeling
(219 ©173) Kby Nirdu PP
So here is a vort to give you P11 to keep going through to the end of 0”w:
The vort is “Keep going”. Since “you started on the way”,
since you were
(.23 p2ru)(.r°13) 97172 oI

so you should keep going.

TT
(.7 1) *Xm TR TUIWA TR MK

So 19N just says it is going on the yahrtzeit, but M50 says it is also possibly going on the day he was
born and that is the P20. So in MBOIN it is that there are two 1IX ‘I's so T 1.

| want to say that there are two XN20n’s in 0”W where, the 011w say that the X721 brings a
“NNo? TwLn” so to speak to teach that the 713917 is not in accordance with how we just paskened, ON

2TNUTAT.

NTIUO 1728 X7 ' 7713722770 P22 17 X P2 U XDT 70 X092 1037 wrK 2P X1 X L1
AU T O3 TP K ARWR TN AN U 0N XTI PUnw 1137 0p D102°K YT 7702 009
(:1 19°3n) X071 WPINN XNUY XNUY 922 X7 772 0K 777 > 7702 077119 NTIU0

Artscroll Note 12:"According to 019X "1 the Gemara relates this incident in order to refute
Rava’s ruling above that one must become intoxicated on Purim. Since this practice can result in
such dire consequences it is not to be followed.”

XXX 773 XTNY M .2
(:1 %)

Artscroll Note 6: “The X1 cites this incident to retract it’s previous assertion that a rooster will not
cross a rope bridge (see Rashba in Avodas Hakodesh 5:4)”
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Speaking of getting drunk,
What is the status of 773 made by a drunk person?

From X’ P11 it is UNWn that his 11 has some M, allthough we do reinterpret his words based
on the fact that he is drunk.

!X A7 X727 Xnmn
| heard the reason *922 doesn’t start with X 77 is because 71107 1A7P YIX 77:

However the *n%u17 does start with X 77. Does the *n?w17 not hold of MIN% fRTP IR 17?

(:> P1)(:10 P9I XN2PN XK9WT XNAPD

292 XWX "N 0 M
(.31 P21L) TARP IPNIWNAI TN 727 X"IN)

P K1 1A X1 IIN0I XD 21 130 Y 10K PIDDW DX M0 19w WA 27 TIKITT AR XPUWIK N RCINT
(.1 PP13) 121 XM X291 XN 1AKT P2 °Kp 0P

Artscroll say this is not a XN”73 and it is another example of “The language of Tractate Nazir is different”
which they quoted from 0N "7 on 4a Note 1.

It happens to be that there was a 13177 7 who was a Xin.

O'NINNI O'NIN
]

The MDOIN in 521 X171 XIN 27 7177 X TAU 17 N12102 says that there was a 1311 1 who was a Xin,
and he quotes the X1 in the end of X 7Y 110 7’11, 71°11 N20ON, where the X711 brings a X712
with a MW of a 13171 7. The X703 in 2 71U 72 1171 says about IMIX 131717 1 XX DINW XX
1”11 0°NN 1212 so | would like to suggest that this is the same 131> "7 who was a XIN just like
DIXW XIX was a XIN. Also if we said that the word X°INT in 1”10 11 is actually a X172 and that
1AM "7 was the XN, and you understood that 13171 1 the XN learned something from X°UuNX "3
the XiN, so we can say there is no X*Wp according to the first answer of the X701 in 1’217°U that
T3 X2 X3 03 TR TR 9D 27

(.31 P21n)
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XLYWIX "1 29
12 NAW) 7PN XUWIX M1 °KPT 7T 27T LIP3 X7 X
( ) ' '

("0 n) 13277 171977 720 XWX AX1.121°0P M2 KT 27 XOX

Perhaps Xj>71 "1 would say you should hold like the MW of 271 as the X1 learns that he is
holding like >O1 "1 because X’U¥1X "7 also understood it that way.



